CITY OF RAPID CITY CONSTRUCTION CHANGE ORDER #1F

2013 Out of The Dust Project

PROJECT NO. ST13-2116 / CIP NO. 50297

MAY 16, 2014

ORIGINAL CONTRACT AMOUNT: \$62,242.25 CONTRACTOR: J&J ASPHALT COMPANY

| LINE | DESCRIPTION | UNIT | CURRENT CONTRACT QUANTITY | UNIT PRICE | EXTENDED PRICE | ADJUSTED QUANTITY | ADJUSTED PRICE | NET CHANGE |
|------|--------------------------|------|---------------------------------|---------------|-------------------|----------------------|-------------------|--------------|
| 1 | MOBILIZATION | LS | 1.00 | \$2,200.00 | \$2,200.00 | 1.00 | \$2,200.00 | \$0.00 |
| 2 | SAW & REMOVE PAVEMENT | SY | 13.50 | \$18.00 | \$243.00 | 13.50 | \$243.00 | \$0.00 |
| 3 | REMOVE CONCRETE SIDEWALK | SF | 270.00 | \$3.00 | \$810.00 | 345.40 | \$1,036.20 | \$226.20 |
| 4 | GUTTER | LF | 65.00 | \$40.00 | \$2,600.00 | 58.70 | \$2,348.00 | (\$252.00) |
| 5 | SIDEWALK | SF | 270.00 | \$8.00 | \$2,160.00 | 345.40 | \$2,763.20 | \$603.20 |
| 6 | CONCRETE APPROACH | SY | 56.00 | \$68.00 | \$3,808.00 | 68.20 | \$4,637.60 | \$829.60 |
| 7 | UNCLASSIFIED EXCAVATION | CY | 225.00 | \$36.00 | \$8,100.00 | 225.00 | \$8,100.00 | \$0.00 |
| 8 | ASPHALT PAVEMENT | TN | 525.00 | \$78.25 | \$41,081.25 | 448.40 | \$35,087.30 | (\$5,993.95) |
| 9 | OUTLET/INLET PROTECTION | LF | 60.00 | \$4.00 | \$240.00 | 0.00 | \$0.00 | (\$240.00) |
| 10 | INCIDENTAL WORK | LS | 1.00 | \$1,000.00 | \$1,000.00 | 1.00 | \$1,000.00 | \$0.00 |
| | TOTAL | | | | \$62,242.25 | | \$57,415.30 | (\$4,826.95) |

| C.C.O. HISTORY INCREASE/(DECREASE) | | PRIOR ADJUSTED CONTRACT PRICE : | \$62,242.25 |
|------------------------------------|--------------|---------------------------------|--------------|
| CCO #1 | (\$4,826.95) | NET INCREASE/(DECREASE): | (\$4,826.95) |
| | \$0.00 | ADJUSTED CONTRACT PRICE: | \$57,415.30 |
| | \$0.00 | CHANGE TO DATE: | (\$4,826.95) |

| Allettens | 5/20/4 |
|--|--------|
| CONTRACTOR: J&JASPHALT | Stopy |
| PROJECT MANAGER: KLARE SCHROEDER, P.E. | DATE |
| CITY ENGINEER: DALE TECH, P.E. / L.S. | DATE |
| MAYOR: SAM KOOIKER | DATE |
| WATER OF WITHOUT CONTROL OF WATER CONTRO | |
| FINANCE: PAULINE SUMPTION | DATE |
| CONTRACT TIME CHANGE +/-: 0 NEW CONTRACT TIME: | Days |

City Staff recommends approval of this Change Order #1F to J&J Asphalt for a decrease of \$4,826.95 based on unit pricing with the following appropriation:

| Initial Funding | \$62,242.25 | | | | \$62,242.25 |
|------------------|--------------|--------|--------|-------------|-------------|
| Fund Type | MIP | | | | |
| Department | 8913 | | | | |
| Line Item | 4370 | | | | |
| Fund | 0505 | | | | |
| CCO #1 | (\$4,826.95) | | | | (\$4,826.95 |
| | | | | | \$0.00 |
| | | | | | \$0.00 |
| Adjusted Funding | \$57,415.30 | \$0.00 | \$0.00 | \$57,415.30 | \$57,415.30 |
| Adjusted Funding | \$57,415.30 | \$0.00 | \$0.00 | \$57,415.30 | φ37,415. |

CITY OF RAPID CITY CONSTRUCTION CHANGE ORDER #1F 2013 Out of The Dust Project

PROJECT NO. ST13-2116 / CIP NO. 50297

MAY 16, 2014

ORIGINAL CONTRACT AMOUNT: \$62,242.25 CONTRACTOR: J&J ASPHALT COMPANY

| LINE ITEM | | REASON FOR CHANGE |
|--------------|--|--|
| 3 | Remove Concrete Sidewalk | Additional walk removed Alley #1 on Lincoln to match into approach. |
| 4 | Remove and Replace Curb and Gutter | Removal limits adjusted in the field |
| _5 | Reinforced 6" Concrete sidewalk | Additional walk removed Alley #1 on Lincoln to match into the approach |
| 6 | Driveway reinforced 6" concrete approa | Additional approach placed Alley #1 Lincoln to make approach drivable. |
| 8 | Asphalt Pavement | Actual ticketed quantity used to complete the paving |
| 9 | Outlet/Inlet Protection | None was used on this project. |

PREPARED BY: Klare Schroeder, P.E.

DATE: May 16, 2014

| | | | | | |
|----------|------------------------------|--------------|---------|--|--|
| | FUNDING TYPE | MIP | | | |
| | COST CENTER 8913 | | 13 | | |
| | LINE ITEM | 43 | 4370 | | |
| | FUND | 0505 | | | |
| ITEM NO. | DESCRIPTION OF ITEM | AMOUNT | PERCENT | | |
| 1 | MOBILIZATION | 0.00 | 100% | | |
| 2 | SAW & REMOVE PAVEMENT | 0.00 | 100% | | |
| 3 | REMOVE CONCRETE SIDEWALK | 226.20 | 100% | | |
| 4 | REMOVE & REPLACE CURB & GUT | -252.00 | 100% | | |
| 5 | REINFORCED 6" CONCRETE SIDEV | 603.20 | 100% | | |
| 6 | DRIVEWAY REINFORCED 6" CONC | 829.60 | 100% | | |
| 7 | UNCLASSIFIED EXCAVATION | 0.00 | 100% | | |
| 8 | ASPHALT PAVEMENT | -5,993.95 | 100% | | |
| 9 | OUTLET/INLET PROTECTION | -240.00 | 100% | | |
| 10 | INCIDENTAL WORK | 0.00 | 100% | | |
| | | (\$4,826.95) | | | |